On" ocT
a w @/ & YMHOKEHUE IECATUYHBIX 3HAKOB Ha CTENEHb JIECATH

Wms: Jlata: _ Orenka:
4,136 x 10 = 3,473 x 10 =
4,264 x 100 = 5,765 x 1000 =
1,173 x 100 = 4,141 x 10 =
4,707 x 100000 = 3,318 x 100 =
7,56 x 10 = 1,892 x 1000000 =
8,014 x 100000 = 4,33 x 1000 =
2,663 x 10000 = 9,775 x 1000 =
5,363 x 10 = 2,459 x 1000000 =
2,619 x 10000 = 3,24 x 100000 =
4,495 x 10 = 5,399 x 1000000 =
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o' oCT
a W a é VYMHOXEHHe JCCATHYHBIX 3HAKOB Ha CTCIICHD ACCATU

Pws: Jata: ____ Ouemka:
4,136 x 10 =41.36 3,473 x 10 =34.73
4,264 x 100 = 426.4 5,765 x 1000 = 5765
1,173 x100=117.3 4,141 x 10=41.41
4,707 x 100000 = 470700 3,318 x 100 = 331.8
7,56 x 10 =75.6 1, 892 x 1000000 = 1892000
8,014 x 100000 = 801400 4,33 x 1000 = 4330
2,663 x 10000 = 26630 9,775 x 1000 = 9775
5,363 x 10 = 53.63 2,459 x 1000000 = 2459000
2,619 x 10000 = 26190 3,24 x 100000 = 324000
4,495 x 10 = 44.95 5,399 x 1000000 = 5399000
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